Soluhons o Mati 11l Fall 2ol Midlerm | (versionz)

1. The following shows graphs of the number of books checked out and returned to the Alexandria Library
during the one year period starting in January 1, 2016. Answer the following questions based on these

graphs. LABEL any lines you draw on the graph with the letter of the question so we can follow ouée,)
work. Give UNITS with your answers.
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(2) Find the Average Rate of Change in number of books returned during the months of September,
October and November. Round your answer to the nearest thousand book
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(b) Find a time when the Overall Rate of Change of materials checked out was 180,000 books per
month. ’
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(¢) If the library has nine million books, how many books were in the library at the beginning of

March? .'_Q,
q;:éi o ¢ B = 9130 Fhousand books

(d) At what time was the Overall Rates of Change of books returned and books checked out the

same? {:% E;l% mom fi‘h_s

(e) What is the maximum Overall Rate of Change of books checked out? Round your answer to the
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2. The picture below shows the Variable Cost of producing handmade leather bound notebooks. The
fixed costs are §15,000. Answer the following questions based on the graph. LABEL any lines you
draw on the graph with the letter of the question so we can follow your work. Give UNITS with your

40

answers. (\))
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(a) What is the Average Cost at 900 notebooks? Give your answer to the nearest cent.
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(b) Assume you sell each notebook for 30 dollars. Graph Total Revenue above.

(c) At what quantity do you have maximum loss? What
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(d) At what quantity do you break even?
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(50
dred 1

Gi{ Lﬂ)@l&

Hmawwﬂ@gaﬂ&wm

koo

EY‘



3. The following are graphs of Average Cost, Marginal Cost and Average Variable Cost for producing and
selling Koutis. Answer the following questions based on this graph. Label any lines you draw on the
graph with the letter of the question so we can follow your work. Include UNITS with your answers.

AVC, AC and MC Graphs for Producing Koutis
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(a) What is the Shutdown Price?

wlun MC=AVC avout 3.5 dollais pev kouh

(b) If you sell each Kouti for 7 dollars, at what quantity is the profit maximized? ) &
un \eg kou s

wlan MC=mR=7 ovout 10€S

(c) What is the maximum profit? . A)
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4. The two parts of this question are not related.
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(a) Solve for y in terms of z:
( z+1 y+3
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(b) Find the equation of the line through the points (2,3) and {~1, 9). Give your answer in the form
Yy =mzx+b.



